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Answer the question no. 1 to 5 after reading the passage carefully.

All his life, Gandhiji kept the abolition of untouchability at the forefront of his public activities. In
1932, he founded the All India Harijan Sangh for this purpose. His campaign for the “root and branch
removal of untouchability” was based on the grounds of humanism and reason. He argued that there
was no sanction for untouchability in the Hindu shastras. But, if any shastra approved of untouchability,
it should be ignored for it would then be geifig against human dignity. Truth, he said, could not be
confined within the covers of a book.

Since the middle of the nineteenth cen
spread education among the untouchables (
be called later), to open the doors of schools
tanks, and to remove other social disabilitie

numerous individuals and organisations worked to
ressed classes and Scheduled Castes, as they came to
d.femples to them, to enable them to use public wells and
nd distinctions from which they suffered.

As education and awakening spread, the castes themselves began to stir. They became conscious
of their basic human rights and began to rise in defence of these rights. They gradually built up a powerful
movement against the traditional oppression by the higher castes. In Maharashtra, in the second half of the
nineteenth century, Jyotiba Phule, born in a lower-caste family, led a lifelong movement against Brahmanical
religious authority as part of his struggle against upper-caste domination. He regarded modern education as
the most important weapon for the liberation of the lower castes. He was the first to open
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several schools for gitls of the lower castes. Dr. Bhimrao Ramji Ambedkar, who belonged to one of the
Scheduled Castes, devoted his entire life to fighting against caste tyranny. He organised the All India
Scheduled Castes Federation for the purpose. Maharshi Vitthal Ramyji Shinde and his colleagues founded
the All India Depressed Classes Mission Society. In Kerala, Sri Narayan Guru organised a lifelong
struggle against the caste system. He coined the famous slogan: “One religion, one caste and one God
for mankind.” In South India, the non-brahmins organised during the 1920s the Self-Respect Movement
to fight the disabilities which Brahmins had imposed upon them. Numerous satyagraha movements
were organised all over India jointly by the upper and depressed castes against the ban on the latter’s
entry into temples and other such restrictions.

1. Erelets S-Sl gy FHeaRerarst yae Hear saree o 3 ?
(a) B SreTRs g

(b) TR Y€ weE we

(c) Y TE

(d) wEreH et

it SN

(1) e (a), (b) T (c) (2) R (a), (b) ST (d)
(3) R (a), (o) S () (4) o wd

According to the passage, who among the following tried to eradicate untouchability ?
{(d) Dr. Babasaheb Ambedkar

(b) Maharshi Dhondo Keshav Karve

(¢) Narayan Guru

(d) Mahatma Gandhi

Answer options :

(L. Only (a), (b) and () (2) Only (a), (b) and (d)

(3y Only (a), (c) and (d) (4) All of above

2. IR STATONE T ¥ Sifee e A . A forumg wehsi= s st e ?
(1) e fosm gl
(2) TOXKIER HeT T,
(3) T TEY JEEreA] et .
(4) TRITRE Wed WG YRR wAfee T,
What would Gandhiji mean when he said that “Truth cannot be confined within the covers of a
book” ? '
(1) Truth always prevails.
(2)  There is no truth in a book.

(3)  Truth can be seen only outside a book.
(4) No truth is limited to the confines of a book.
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3, o SAFAER ST S gwore s aode S Foarael Shivw el STevds S ?

(a) e (b) T TR F
() Hfe gt g (d) T A

gt sav
(1) (a) 37 (b) 2 (@ @2

What according to the passage are the-prerequisites of a movement against oppression by higher
castes ?

d () (b)) @) (© A

(a) Education b) Awareness of human rights

(¢) Opening of temples “(d) Sanction of the Shastras
Answer options :

@) (a)and (b) @ @ @and(d @) (@) ()and(d) (4) (c)and(d)

4, SifveEesen faly e[ ue SIerel wee, TR S STt Wk e g sieon shivit el ?

(1)  weweH e 2) Bl ST et

(3) R $d St I

Who announced ‘one religion, on
System ?

and one God for Mankind’, in opposition to the caste

(1) Mahatma Gandhi 2) Dr. Babasaheb Ambedkar

(3) Mahatma Phule (4) , Shri Narayan Guru

5. STl FraTons feia s eRsh et s e dat S e A ?
(1) T A= () \FEr gt
©ONREEED (4) weehs feram

Which of the following was given thefeast importance by Gandhiji in his thoughts about removal

of untouchability ?
(1) Sanction of shastras Human Dignity

(3) Reason Humanism
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Read the following passage and answer the questions 6 to 10.

Innovation will play a very important role in India not only for overall growth and competitive
advantage but also for the future development of India to be sustainable and inclusive. In our country,
there is a lack of demand in the most important sectors such as health, education, agriculture, energy
and skills, There are many challenges in this country in terms of population as well. For example,
55 crores population is of age group of less than 25 years, it is necessary to provide opportunities to
them. For that, there is a challenge of growth and development of disparity in various aspects such as
class, caste, gender, region and at the same time, there is an urgent need to bring millions of citizens
trapped in extreme poverty above to poverty line.

Innovations is the answer of the pressing challenges and is at the heart of all initiatives. When the
knowledge based economy is created, the opportunity structure for the distribution of the benefits
generated from it is also created through such innovation. Affordable solutions in common sense
innovative business models or processes make it easier for common citizens to access services and more
people participate in the development process by going beyond the traditional way of working.
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However, our only need is to explore new paradigms of innovation with an emphasis on affordable
and inclusive growth for the masses and lifting the low-income people at the bottom of the triangle out
of poverty and deprivation.

The unfortunate thing is that in the past several decades, innovation and research have given
priority to the demands of the developed, and more emphasis has been placed on fulfilling the wishes of
the rich, and the entire system of intellectuals and capital is being used to satisfy them. India will not be
able to accept this path rather than the research in scountry and innovations need to focus on the
poor and the urgent needs of poor people. The traditional old consumption approach will no longer

work. ;

Given our huge population and immensity, ourifinovation should use scarce resources sparingly
and our research and innovations should be afford “and environmentally sustainable, the work of
India’s National Innovation Corporation reflects thig-philosophy. He strives to develop an image of
innovation created by the people - for the people - of:thé:people for a development India. Only through
such an inclusive approach where people are the ficiaries of knowledge creation can we create
images of sustainable development. :

6. Y I faEm @ e/ q? ,
(a) Tl TRfA ST hefes Jerered] TsgieA TS e,
(b) TEATEAT MUET feRTaT=a HiST STael THieRvuI=1 B e,
et s |
(1) T (a) (2) I (b)

Which of the following statement is/are corre

¢ HIVAE AR '(4)“ (a) & (b) et

(a) So far we have covered only to the needs of advanced Nations.

(b) Our current development model has degraded our environment.

Answer options :

(1)  Only (a) (2)  Only (b)

None (4) Both (a) and (b)

7.  YErerdeRt s ferem eeRra TR ?
(a) I i ST AR N el JLETd Teadl.
(b) TR TEHTTE S0 A9ed Toehte g 3.
Tt S
(1) ™ (a) (2) ®H (b) 3 SHIvTEl 4) T (@3 (D)

Which of the following statement is incorre

(a) So far we have not paid enough attention to innovation.

(b)  Only with People’s participation can wé-achieve sustainable development.
Answer options :

A1)  Only (a) (2) Only (b) (4) Both (a) and (b)
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8. Uereide s foum e 3 ?
(a) Taa ~yorn sy faeRra Wiy SieRd g,
(b) 3t e T e weeht Tegdl.
ol I
(1) W (@) (@) () () FRETE @) @) O)
Which of the following statement is correct ?
(a) Without innovation we cannot achieve development.
(b) Till now India’s development was not comprehensive.

Answer options :
(1) Only (a) (2) Only (b) (3) None (4) Both (a) and (b)

9. AW vy fasharen sy HecrEn S8 SR
(1) A T HOYIE 29 SR o A TSI 19 3T,
(2) e B S ST 50% WA i1 I 2N,
(3)  IRaTE AHEE TY WIS ST o SEdie Qs W el o7,
(4) Ol AIRUEIY Gt SuCey HEA Q01 ST IS,

Skill development program is important in India because :

(1) India is an agrarian country and there is lack of supply.
(2) Almost 50 percent of the national income is derived from the service sector.
(3) India has a very large population and most of them live below the poverty line.

(4) There is a need to create opportunities among the young population.

10, qETeTiE By e i o 2
(a) Geeh Torehrarenal STTor TS o THHESHAR el hisd HA T,
(b) mw@wwfwwmmmwmwm
ofeft S
(1) W (a) (2) R (b) (3) HURETE  (4) (a) T (b) TR

Which of the following statement is correct ?

jg) For holistic development we should focus on poverty and population.
(b) We should try to produce more from less.

Answer options :

(1) Only (a) (2) Only (b) (3) None (4) Both (a) and (b)
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Read the following passage and answer the question ne. 11 to 15.

Since Economic production is the basic activity of a-human aggregate, the mode of production
(productive forces and social relations of production) plays a determining role in shaping the social
structure, the psychology and the ideology of that human aggregate.

Rural society is based predominantly on agriculturé. Village agriculture is sharply distinguished
from urban industry by the fact that it is based on direct extraction from Nature by man.

Land is the basic means of production in the countryside. Land is a part of Nature, though made
arable by human labour. From land, the rural people produce, by means of technique and their labour
power, such a variety of agrarian products as food, cotton, jute, tea, coffee, tobacco, and others.

Urban industry only transforms the products of agriculture into industrial products. In city factories
and mills, such agricultural products as cotton, jute and sugarcane are transformed into cotton and jute
cloth and sugar respectively. :

This basic difference between agriculture and industry plays a significant role in shaping the social
institutions, the psychology and the ideology of the rural and urban populations.

Further, the level of production and the way in which: the products are distributed among the
different strata of a society, determine the level of the material"prosperity of the society as a whole and of
the various socio-economic groups comprising it. They also, to.a very large extent, mould the institutional
set up of that society as well as the cultural life of its people.™

For instance, in India, the primitive nature of agriculture, the resultant low level of agricultural
production and the specific types of land relations which determine the differing shares of agricultural
products among the social groups composing the rural sociéty, explain the general poverty of the rural
people, their hierarchic gradation into a pyramidal system of socio-economic groups and, further, their
distinct social institutions and cultural backwardness. They also largely fix their customs, conceptions,
and social mores.
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11. QRN HIE/FI0 S SRS USdes g g/ erw 2

(a) fermmem (b) AT

(c) wrIfes S (d) et THE AR

R S

(1) (@), () () () () () () (o) & (d) (4) P (d)
Which of the following factor(s) is/are affected by the mode of Production ?

(a) Ideology (b)  Psychology
(c) Social Structure (d) None of the above

-—
Answer options :

(1) (@), (b)and () (2) (a)and () (3)  (¢) and (d) (4) Only (d)

12.  WRATde! Srefrea snfen Cereqren U0 SHISTeR a1 qfiond gidl ?
(a) TRIS g QL
(b) T ICAEA oI Bl

() <o wiwpfaes fafaea Id.
(d) gren aftorm fafres wrfseR- snfei yoneiaed 2.

gt 39T
(1) (a) 37T (b) ST (2) T (c) T
(@) W (d) TR 4) (a), (b) 3 (c) SN

How does the premitive nature of agriculture in India affect rural society ?
(a) It eliminates poverty.

(b) It increases agricultural production.

(c) Itleads to cultural diversity.

(d) Itreésult in a pyramidal socio-economic system.

Answer options :

(1) (a) and (b) are true (2)  Only (c) is true

(3) Only (d) is true (4) (a), (b) and (c) are true

Greed] BTHRITS! I / SPACE FOR ROUGH WORK
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13.  OTeOT TS TEER S Wellerien! o /s e/ faum erae oR/q ?

(a)  TITHIOT HIST & YR Ster i ST,

(b) T YR S SEAEAT &8 FIEH 3.
(©) TIRAoT TR SeTeAE T Ve SEn el .

et 3w |

(1) @ b)) (2) (a) A (b) (3 wH () 4) et o T
Considering the rural society which of the following statement/s is/are false ?

(a)/ Rural Society is based predominantly on agriculture.

(by” Land is the basic means of production in the
(c) Means of production in rural areas are not di ferent from urban areas.

Answer options :

(1) (a), (b)and (c) 12) (a)and (b) (3) (D)ley (c) (4) None of above
o |

14. e Sles AT SRR SO AT WRAM I GAR M ?
(a) STEifiTE a5 (b) FE A (c) T SemeH
I I

(1) (a) ST (b) (2) 4) K (b)

What do rural people produce by means of their labeur power and technique ?

a Industrial goods ) Agrarian produ
& g P

(c) Metal products

Answer options :

(1) (a) and (b) (2 (a), (B and () (3) (a)and () «4) :Only (b)

PR HIHTATS! I / SPACE FOR ROUGH WORK P.T.0.
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15.  RaT o el AT SRET Wieleen o ek e A < 2

(1) it Seargren et el

(2) iR TGO

(3) TR T 1

(4)  Stesiroon

What factor contribute to the general poverty of rural people in India ?

(1) Low level of Agricultural Producﬁon -

(2) Cultural backwardness

(3) Lack of access to heathcare

(4) Laziness

WTeliet AT aTe e SR W. 8. 16 § 20 T I :

Ay T E aRaRIFTET T IR ST, & T o T W o Wi S A HBSgee
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17 I TSR T ? e St STet T 2 i wrgen fervere fehen g savien favend fehan srg=n, foriedt
el ST rAr el ? Hreed e @ S aemEe g e SR, ' A S
FOTE T & TS SR e, Hrees PRt § T A o S e ST ST g e i vl
S TR R, 2 i) S Sfor S frere g o T fewr e, st fwme
& FrfreTret et v ok, & v Yfehgwsn wewren s fafre snfor s gai Hefi H.
SR FrdteTe 2 e o S Ste die e e A STeRi Haltd . S 6,
TSI T FCTIET B Seld 1 ? WO Sven Y gResw € Tk HieTE TR TR, SR SR fohe
R GYHTENSs TSN Hed TEU Ao AR ¥ STeRTer e Sfer STl 3TIftT T qeT SIS Wh
THETo WU T ST 3% Yok, WS Frereafie ifaree Frdiome 71w e RS fasTd
o, SaTmed Ty P Fremie snuR el g e e arie 3w, FETeTe i e A i hell
an e Sfrer R STUeR e e ey A SR w Wi S T, T Th, e T
WWWWWWWWW@WWWWWWW
JATIH STH. EWWWWWWW‘H o aEmEe S e 6
F AR T e S = e S A g e T, el uftferdgan @ fha e wEe
Tt ST AT, Qe SRS S SR e JrTen e e ue HUedr ST, TR T
e e e FRATer Sy 0 O SR, g =it e S arge e g Suferarn uRtomsrs verrer
AR ST A 7ol Bl " ‘
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Read the following passage and answer the questions from 16 - 20 :

Moral philosophy is the branch of philosophy-that contemplates what is right and wrong. It
explores the nature of morality and examines how people should live their lives in relation to others.
Moral philosophy has three branches - one pranch is metaethics investigates big picture questions such
as “What is morality” ? “What is Justice ?” “Is there {th ?” and “How can I justify my beliefs as better
than conflicting beliefs held by others ?” Another btanch of moral philosophy is normative ethics. It
answers the question of what we ought to do. Normative ethics focuses on providing a framework for
deciding what is right and wrong. Three common frameworks are deontology, utilitarianism and virtue
othics. The last branch is applied ethics. It addresses specific, practical issues of moral importance such
as war and capital punishment. Applied ethics also talks specific moral challenges that people face
daily, such as whether they should lie to help a friend or coworker. So, whether our moral focus is big
picture questions a practical framework or applied to specific dilemmas, moral philosophy can provide
the tools we need to examine and live an ethical life. Among the normative ethics deontology is an
ethical theory that uses rules to discern the moral course of action. This theory uses rules to distinguish
right from wrong. Immanuel Kant, the philosopher, believed that ethical actions follow universal moral
laws, such as “Don’t lie”, “Don’t Steal”, “Don’t Cheat.” Deontology is simple to apply. It just requires
that people follow the rules and do their duty. This approach tends to fit well with our natural intuition
about what is or is not ethical. Unlike consequentialis ich judges actions by their results, deontology
does not require weighing the costs and benefits of a'situation. This avoids subjectivity and uncertainty
because you only have to follow set rules. So following the rules makes deontology easy to apply. Butit
also means disregarding the possible consequences ot our actions when determing what is right and

what is wrong,.

16. S e Fromi= wm e e ?
(1) e T (2) TEHAREG TR (3) RS T (4) T TH
What is the role of Universal moral laws ?

(1) Don't accept  (2) Don't agree (3) Don’t cheat | (4) Don't get angry

17.  o7ey Fritemere WEY i,

(1) o e T, 2)

(3) W TEST e et (4)

Bring out the nature of normative ethics.

(1) What it ought to do (2) How to develop ourself
(3) How to understand (4) How to know the truth
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18. fier qeammT fafay R @i,

(1) IR TR, Tenarene acere, e
(@) frrifommms T, TR, S Te

C(4) UETE qEH, YT TeE, ik Teh e
State the different types of moral philosophy.
(1) Indian Philosophy, Philosophy of logic, ethics
(2) Meta ethics, normative ethics, applied ethics
(3) Philosophy of Science, logic, Social Philosophy
(4) Western Philosophy, Modern Philosophy, Formal logic

S

19. AAfaa=t qeer HHeurl w1 R ?

(1) e we ufaers feen wiEs,

(2) rehIAt Y ST SIIA e,
(3) eI WE Sfe Y STe i
(4) SR SAUIN HE o el qifEs.
What is the Central idea of morality ?
(1) How people should react

(2) How people should agitate

(3) How people should live their lives
(4) How people should compare with others

20. TEY TS Terya SO 9.

(1) =g sufor s (2) g 3uftn SRy

(3) T I A (4) snyfer sufor Wfceras
Explain the basic structure of normative ethics.

(1) right and wrong (2) valid and invalid

(3) true and false (4) modern and historical

U uitede ara foT @redier U9 21 9 25 < S e

WER 71 Ieg e SfrefiftRer e s fergeee ufitem ot Yeuwr diira &9 o1, /o) ¥ W X Yo
FfHdrela stRd. a 1] fehan Yof=n SAfom foReolicemigN Yenremrsan JaeiATer Senfia o7, 1917 e STE=ergem
Fren Iafsr fervuiieami= srermar srdaet. 1952 7ed, I TH.C, Hefiel B2, SN, ST U=, 3R ST JUaudsii
el TH. SR M T, TGRS AT Sioa AT Hehou-oR ST ARhae Srer fafor o1ty reavars
T TSIl Yol T TR WA 1954 AEd MASER (FIshioeg STrafithons oy fewgeies ufaym offw
YFeugm) =1 3Ny TNTEN. 1958 WeA ISy, SEee ST GRARISE il a1 &iel el shrieet Jee miafter
Tiresre.

1960 Hed, BSIS e efanedsren fasfier H9A Il TR WA Tt frea it Sl Sk T
TRASTEAFT FTIE Yfee! STt TR et gferem Snfn fa1i sfe fasgor snae o eiNedsH T, SIeM, S5, 32
anfor . gRefe It 1961 Hedl vfser 719 orax forefaa et €.
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e 3 W fafer S AR ¥ T W W a9 S, SER F YHR | AR g
S T Y] S T S ST, ST SR Ve T AT U Pl SR Sl el S .
QTR T TR WohTsl B STeredl et 376g S ofiee sw fewiares snfor = -<diere=n ferto
() TR S, e TR (Si) Gl e R gepRafen fin () T § sifie S S
S, e SEnTE SR feeoren () T R fgerfire =1 o aré wefte fga oAl S A,
R, T ael e Sy, S S AT YA T Jofterg 0, Shewd el AT
0] ST S FRTOT () T T WIS TeU Sh1 SO SR e TG B 3TN THN, T T Toh S~
ST SO ST S ST ST 3T FeR aRum F.

Read the following passage and answer the questions from 21 to 25 :

The word laser is an acronym for Light Amplification by Stimulated Emission of Radiation. Lasers
are in fact generators of light. They are based on the amplification of light by means of stimulated
radiation of atoms or molecules. In 1917 Einstein predicted the possibility of such stimulated radiation.
In 1952, Ch. Townes, J.Gorden, and H.Zeiger in U and N.Basov and A.Prokhorov in USSR,
independently suggested the principle of generating amplifying microwave oscillations based on
the concept of stimulated radiation. It lead to the invention of MASER (Microwave Amplification by
Stimulated Emission of Radiation) in 1954. In 1958" nes, Basov, and Prokhorov received Noble
Prizes for their work in this field.

In 1960, Theodore Maiman of Hughes Research ratories produced the first laser using a ruby
crystal as the amplifier and a flashlamp as the energy source. The first gas laser was developed in 1961
by A. Javan, W. Bennet, and H. Harriott of Bell Laboratories, using a mixture of helium and neon gases.

Laser has become a valuable tool in a variety of fields starting with medicine to communications.
Laser is a light source but it is very much different from many traditional light sources. Laser is not used
for illumination purposes as we use other light sources. Lasers produce a highly directional and high-
intensity beam with a narrow frequency range than that available from the common source types of
light sources. They are more widely used as a light power electromagnetic beam rather than a light
beam. Laser beams are used in the mechanical industry such as a special type of drill bit to drill in hard
materials, and cutting materials like wood, glass, ceramics, etc. The laser is also used in the electronics
industry such as scribing, soldering, trimming photolithioggaphy, etc. Application of lasers in the military
involves mainly ranging, guiding weapons to the inten target and laser beam itself acting as a weapon,

and so on. Thus, the laser is a high-technology devic affecting our lives in many ways.

1. TR B TIHF YehTel SIda el 3 Sl
(1) 3= IiEE ST . (2) s

A Sofid .
(3) < s=a famm uRw R, (4) o0a T e .
Laser is different than the common light sources because
@)y Tt is high intensity beam. (2r~ It has narrow frequency range.
3y It is highly directional beam. (4) All of the above are correct.
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22, R 9 37v] fefhan Yo Alwn H HelY TR ?
(1) <R a7o] fefven Yoy forema seafSia g et
() SR S feveicmigi Temrre gerer ey sied.
(3) R gewad faferdentomer sl e,
(4) oRiedR! L
What is the relation between laser and atoms or molecules ?

(1) Laser did not emit without atom or molecule.

(2} Laser is based on the amplification of light by means of stimulated radiation of atoms or
molecules.

(3) Laser is based on microwave radiation.
(4) None of above

23. WWWWWW?

(1) T

Q) T e

(3) T SIEM, Ty, 9 9 Ta. gl
(4) TS R

Who developed first gas Laser ?

(1) H. Zeiger

(2) A. Prokhorov

3y~ A.Javan, W. Bennet and H. Harriott
(4) Townes Basov

24, o foHRTOT HTETE ST ST A& ?

(1)  werErErs! A2) S RIS

(@) = R ) STE HOFTr Wik eI
Laser beam is not used for which of the followings ?

(1) umination (2y  Cutting of glass

(3) As a weapon For drilling holes in thick materials

25, AR fTomarst women Aee kR fHeer 318 ?

(1) rereg anfor TrERres (2) TR
(3) &, |, MEA 4) TE T TE IR
.XPlo got noble prize for Laser ?
) Basov and Prokhorov (2) Einstein
(3) Townes, J. Gorden (4) H. Harriott and H. Zeiger
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| refieT SN AT W9 9. 26 W 30 E I ¢

o1 AT SRS ST SehreAl ey AHeE R e, grfsre, 9 AFfHs TR o fae
ST IR foreITHier S o e Q0T Wi TTee SR A IRATTRAYerE BT IEee SSUR foadi
OISR STOTHRITERTT ST USiEis]/ Tee Feofeiiviel ST,

¥ wdgaa onE N sl aaE giel fafae e e st SifereSet o qea SETig STerstat
WWWHWW/WWWWWWWWWWW

&t it SR 9 MEETRIGR SIEROTE - SEsiRge Tt stfergirdia,/ sifemifed shean S
S, (X THIONA Sl S 1), ety Se/wade T STerdre o ARTETRI oSS wee
qrEfHlT STEen SAEige el TUIEigR e gL/ 3ift FOIE A BTl ST,

feyfere oTen STiaRes d STIaidel ey T fafvre waterole aRfeerdtel e e Yot e
o st O Sroaw. SR eRE T8 S S SR et/ SerRtia oo e e
S S (YR e wE w0d Sr), o siadem Frfidt go1 Wl srdE. qurdt o
GW/WWWWWH“W”W@%WWWWW. FATHIGR TN
ST S ST Y S (e o T aT HadeAl STeRS o et Sl 3T,

affeadad SIre o T wiear 9, Yafite amie gt/ geaten oo fy S arEE geie SR
T STRVRIR STUTUIRLAT STERT HOliedl 3% ehd. qenfy afife o wien fafrs (unique) fohar Sus@
SAFHRIETER (Zonation Pattern) TAHAI fehal Jrressitfor Srerere 1 ST STU[hig!/ ST TR

frodifee® AN SR e/ St At fafay YA B B RN ST e
rorare] el o e WISHUERTe YUTEiHidt St ST S SATRTER AOHT S Tshrre =re e
wﬁrw@ﬁwa@mﬁqa@waa@%mﬁmmmaﬁéﬁwqu@w
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Read the following passage and answer the questions no. 26 to 30 :

For the past few centuries Earth has been witnessing several environmental problems even-though
the ongoing climate change events such as increasing temperature, cloud bursts, frequent cyclones, long
and irregular winters and drought have received more attention in the public platforms.

These extreme climatic events have challenged the physical, mental and economic health of humans
and made them to think and speak out. This realisation has been following by several agencies making
efforts to mitigate the climate change impacts.

It is known that global warming is the result of the incessant release of greenhouse gases especially
carbon dioxide (CO,) from several sectors especially from automobile and associated industries triggering
the extreme climatic events. :

Earlier the natural forests cover and oceans absorbed the enormous quantities of CO, released in
the environment. However, continuous deforestation and other anthropogenic pressures prevailing in
and around the ocean and forest have slowed down the carbon sequestration potential of these systems.

Natural forests evolve due to the constant interplay of inter and intra species alongwith unique
environmental conditions and play an important role in mitigating the greenhouse gases to a large
extent, also acting as oxygen factories. However, in comparison, tropical and savannah forests produce
a more oxygen than other forests.

Studies have established that the natural regeneration potential of the forest has been decreasing
due to continuous deforestation.

Ecologists opine that the restoration of natural forests is the ideal way to overcome the global
warming impacts. However, restoration of natural forest is a herculean task and almost impossible.
The diminishing forest cover affects the life-forms and also carbon storage and oxygen production which
might speed-up the global warming process, and so researchers and policymakers encourage afforestation
programmes in order to mitigate the global warming.

26, ‘*Aufier o weifid wefter =R faemie < de faami frae
(@) ‘rufies e fafae wfom SR (species) & TatERU wRfeerdten wer wHERE fHfifa o
3T,
(b) TRt " T IO T TR IO BT/ SR 3.
() “7afifer a9 0a T8 AR ATATERUId SRS HH BT Hed .
(@) ‘Aafitm R ga A ATt SuE ST
vl S
1) ®R@E0) (2 FREOI(Q @) BTR@IT(Q @) () F(d)
Regarding “Natural Forests” four statements are made of which two are correct. Choose the
correct option.
(a) Watural Forests” are formed due to interaction of species and environmental conditions.
(b ;I\%atural Forests” are responsible for floods and cyclones.
(c) “Natural Forests” play important role in minimizing emission of greenhouse gases in
Atmosphere. ‘
(d) “Natural Forests” are important for promotion of tree cutting.
Answer options :

(1) Only (a) and (b) (2) Only (b) and (c) (3) Only (a) and (c) (4) Only (c) and (d)
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Wl FEe Yo SAEE e wfwwmmmwaﬁa@wﬁﬁiﬁw7
(a) SoTERfEER SRl /O (b) =T TGS o
(c) e STt/ EN EERIGIE RSUCACE|

it S

(1) WK @F(b) (2 TE ()T

@) WH()A(D) (4 K (b)F(d)

Among the following which type of forest contribute comparatively more production of oxygen ?

(a) Tropical Forests " Savannah Grassland

(¢) Mountain Forests Temperate Forests

Answer options :

(1) Only (a) and (b) (2) Only (b) and (c) (3) Only (c) and (d) (4) Only (b) and (d)

28.

(a) FERYY FHIO & I SUHH
(b) i wigwml SeedaE den
() &d e S A

(d) SeRERER ‘g e’ e

it S

(1) FTR@IAEO) (@ FTROHICQ () TR @ (@) W@

restrial ecosystem can be in increased. Choose correct

How the carbon sequestration potentia
options among the following.

(a) Planting of trees and Afforestati ;
(b) Release of industrial wastes in r
(c) Increase in greenhouse gases.

(d)~ Protecting illegal cutting of trees in forests.

Answer options :

(}l Only (a) and (b) (2) Only (b) and () (3) Only (c) and (d) (4) Only (a) and (d)
N oL : v
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29. SEURT () F AETETRIE Hiee YEeRTor (STHRIYY) e ST et R
(a) O ST aI& (b) SIRIAE
(¢) FERIYY IUHH (d) wFEFrHT ®E
Tt I
(1) &K (a) F (b) (2) W (b) @ (d)
(3) WK (a) T (o) (4) R (b) T (c)
Carbon sequestration potential of forests and oceans has been decreased due to :
(@) Increase in forest cover @)/I)éforestaﬁon
(c) Plantation Programme Jdj  Anthropogenic activities
Answer options :
(1) Only (a) and (b) @) Only (b) and (d)
(3) Only (a) and (c) (4) Only (b) and (c)
30. ERA 77 Ry Scafsia sHvaresal Ereerishl v ] vl IreIe HRONE o1 2

(a) STEEEEE ST (b) 9ot S e
(c) THmEFEE 3Em (d) GrEdrE ol aEe
b 12 e

1) TRE@EAD0) () FR@FAQ () FROHEIM) (4 BHFK() A ()

Which of the following two conditions are specially responsible for the emission of greenhouse

gases ?
(@) Automobile industries (b) Rangeland Management
(¢) Chemical Industries (d) Rainwater harvesting

Answer options :

(1) Only (a) and (b) (2) Only (a) and (c) (3) Only (b) and (d) (4) Only (b) and (©)

)
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WTEAter SART ST U9 GhHieh 31 X W Shuich 35 =it WY & :

ST ST 11 Siartd Jesd Siuenris ey e for enda. wer St e =T fafed
FAA SR, SorRET T e wate i ey ol SR s SifieR e Jom
T, S ROTCN STUATE ek MY HETH 21A TR, S U SRR SR SR, 14 s
o et T ST Wa el S A Wi svarerdl Sefun TR Wik Fe O SR S,
TSRS 86 1 GEE o764 Wl 9e HO e, AT TaAT WeRTeHe ST I
St 9 e digyEm foee . ifster anfor anfefer arvelepet et enfn faenrarsa fae weR
tfecreaa sraore, Tifea Te gaesi =, Gfireer ST ¥ TS SRd. WA TSsie=a1 TR TR0
ghra wdere uHfas- st watae swaren aiferdsh st St enfor @it gera sifermEn R
T U TR wvarer g i Sael. a1 qeerl YA =R Sl H0 A6 S, S
ST THRICHh SATHRTE e e wHe e gd.

T ST e et St anfor uerer fatesde, SRR T, SR gedses T 8 T,
19t T T B ST, I e, SO ¥ e el TSt S S ERITe TRt ST el difest
ST TR IS TR Qo SRATae) e Fem dar S Tfesk.  SFREreN e e A = e, &
e g fordt a1, STISToA e, eted HEwe HHI Theel SIS PIehd I, IO Tehtos-T, SAT0T | TEHe
T ST S ST e e e SetT TGN ol el ST, TCEE! S WA e S
T ST SO Hfe S ¥ U Y T S ST, <o SR WIS Wil ST e e,
HETH 19(1)(a) T SRR AT ST S0 ER, e HoRE! fafer & Seven e 19(2) STFar s1eet mfest.
Read the following passage and answer Questions No. 31 to Question No. 35 :

The nature of Fundamental Righ er Part I1I of the Constitution is well settled. The Fundamental
Rights are to be understood in a nega ontext, as in “no person could be denied such right until the
Constitution itself prescribes such limitations”. The only exception to the aforesaid formulation is
Article 21A of the Constitution, which is a positive right that requires an active effort by the concerned
Government to ensure that the Right to Education is provided to all children up to the age of 14 years as
given by the 86th Constitutional Amendment. The positive prescription of freedom of expression will
result in different consequences which our own Constitution has not entered into. Having different
social and economic backgrounds and existing on a different scale of development, the application of
Human Rights enshrined therein have taken a different role and purpose. The framers of the Indian
Constitution were aware of the situation of India, including the socio-economic costs of such proactive
duty and hence took an informed decision to restrict the application of Fundamental Rights in a negative
manner. This crucial formulation is required to be respected by the Courts, which have to uphold the
Constitutional morality behind utilization of such negative prescriptions.

Law and Technology seldom mix like ¢il and water. There is a consistent criticism that the development
of technology is not met by equivalent movement in the Law. In this context, we need to note that the Law
should imbibe the technological development and accordingly mould its rules so as to cater to the needs of
society. Non recognition of technology” in the sphere of Law is only a disservice to the inevitable. In
“this light, the importance of internet cannotbe underestimated, as from morning to night we are encapsulated
within the cyberspace and our most basje.attivities are enabled by the use of internet. Further, the internet
has gained contemporary relevance and is one of the major means of information convergence. Therefore,

the freedom of speech and expression through the medium of internet is an integral part of Article 19(1)(a)
and accordingly, any restriction on the same must be in accordance with Article 19(2) of the Constitution.

Freey] BTSN G / S@ACE FOR ROUGH WORK R.T.0.



X18 22 D
31, WO SR SiaumTe sHem #e fewren oe.
(1) eH 21(A) (2) hTH 14(4) (3) wwEH 25(3) (4) heH 19(1)(a)
Right of Freedom of Expression is given under Article _ of the Constitution.
(1) Art. 21(A) (2) Art. 14¢4) (3) Art. 25(3) (4) Art. 19(1)(a)
32. %%EW%WW#I 3 ?
(1) TAYd T § HhRICHS 3T Wehd G, ST Tieh e TRaTR & Wk,
(2) SRR Y HIVERT TR AR @i ST B ek AT,
(3) &R = wiguw Fmia i @mwe e seaan wate wee 2.
(4) R A} TSI HAT 19(2) = A ST S =,
Why are the Fundamental Rights mostly negative in nature ?
(1)  The Fundamental Rights cannot be positive in nature, otherwise people can misuse them.
(2) The Fundamental Rights are negative in nature, so that no foreigner can enjoy them.
(8) The Fundamental Rights are negative in nature, as the framers of the Constitution were
aware of the high costs involved.
(4) So that Art. 19(2) of the Indian Constitution can be properly implemented.
33. W Gl ST 111 Aed St Sreerean He STeermian anteal e1ef 9 g, shor

(1) 9Rd UDHR R TaR) 0 T 9 I,

(2) IRA SRR Gfifer e Suersy o,

(3) vIRET i e g nfor sfdfer faferean.
(4) STl Gefd ST $ee ST9Y S0 YRAN ST,

Human Rights as enshrined in the Part III of the Constitution of India got different meaning due

) - India is not a signatory to the UDHR.
(2) India being a country with lot of natural resources.
) Diverce Socio-economic conditions prevailing in India.

(
(4) Presence of Largest Internet users of world found in India.
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34, SrEETEN HAER, faeh/mrEe durd uRdemaed g are o R, A e, g o

(1) e sreom Hed wiieedt foreme S 1 = S .

(2) TR HREETYST TS ST

3) Wawwmﬁwm

(4) Wmmwaﬂwmﬁw , W%amﬁr

As per the Author, non-recognition d technology in the sphere Qf Law means :
(1) This amounts to non-recognizing the existing reality.
(2)  This means technology is superior to law.

(3) Law and Technology cannot go together.

(4) Constitution does not permit the blending of technology with law.

35.

(1) 42 o sEAgEwt
2) 44 f weIGEEI | (

3) Toaromen STfueR 71 o8 TSR T T B
(4) 86 = wAGEE
The Right to Education was added to the Indian Constitution by which of the following ?

(1)  The 4274 Amendment

(2) The 44% Amendment

(3) The Right to education was a rt‘of the original Constitution

4 The 86t Amendment
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Erelier SART TS U9 . 36 & 40 i IeC AT :

S HEeeR S o e e i ars ad gof wnell smea. e A FfR vt s
TR SRETSE HIEvaTe SHifo TsieRTer eheraareA Tieraett e feifeeen shrvar det HTE0 ST 3R
TR e ST e e uifeedt SAift e qeasn YR TR TR Shell. e gt
SIS SO SETCEIET o= e Hear T, ST SIS TSIHE WSl AleRedl Hehaa sTerel! few.
qIfHEE, SRR, Sieey, Sdre, sy, TR TR T SIEgs TR s Sed s
ST S SR UYE T el ERIAE TSTEe SR W ST, 1 Wi A TSt
SR FISTERIT) SauTe foee 3, RS ST TR Uil Sesdieed STISTeR o] UTYE e R
eRTEEs A WA arferenTe, ot = o e [ Ferer Pl STEAERE e,

T SR STrEeE e A e, s Wit e ¥ ehTelIA MIRATe el
TG, 6T WWW@.@.WWWWW@& 7 Wil 3 g
TS WA TorEeEr i we. AT ST T S GERIeT YRAENe Siehfas Sge
STHOT, SFGST HITE STAvFal Geur S Falrad sl e,

TEr aU SRt el qEier SR . oy Ul e Sae uifes TR ¥ etfirsert wwsy g
el O, & T T O SV TSR T Bl WHISehg el A Tfee STEl.
314,

TR STAN U iR Ser WRT A W Tod U Aol SHetesiieil Al S ST
S Tt SR a4 eI TSHE HetkeE STl TS, strsre srtel St e ISR
TS TEUEET TOTER S, ST S STORRenl We STl Sl e et smfor SreRiien
EEEE STV W Faw Uteed e,

Answer question No. 36 to 40 after reading the following passage.

Sixty years of constitutional democracy and the rule of law in India would seem, on the face of it,
like an occasion for taking stock and for celebrating the great Indian political experiment. The founding
fathers and mothers put a structure in place, enshrined a nation’s dreams in an impressively liberal text,
and six decades later, it appears we still abide by that vision. All around us, there are polities in various
kinds of malfunction - Pakistan, Afghanistan, Bangladesh, Nepal, Sri Lanka, Myanmar - and to our
north, a prosperous but authoritarian China. India’s Constitution makes the country an oasis of rights,
representation and justice in a desert of failing or otherwise flawed states.

It could be argued that the Constitution, as the textual blueprint of the republic, is not responsible
for its own marginalization, violation, or suspension. That it was conceived in a certain era, written in
a certain spirit, and promulgated in good faith by the best political and legal minds active in India
around the time of independence. That a document first articulated and steered by the likes of
Dr. BR. Ambedkar, Sardar Patel, Jawaharlal Nehru, Maulana Azad, Rajendra Prasad, KM. Munshi
and Constitutional Advisor B.N. Rao, continuously guarded and carefully interpreted by three generations
of lawmakers since, is as good as it gets for an overly large, unremittingly poor, vexingly diverse, and
precariously free post-colony like India. That we may criticize the Constitution; we may lament its
disrespect or point out its inefficacy in many parts of India, but without it, we would still be colonized,
if not by the British then by undemocratic, militarist, communal or other sorts of nonprogressive strains
within the Indian political spectrum.

Better to have an excellent constitution in the letter if not in practice, than no constitution at all, the
objector says. Today the Indian constitution is considered as best amongst all other constitutions. We
should be grateful for the moral commitment and practical foresight of our founders.

Feed] SIS SR / SPACE FOR ROUGH WORK




X18 25 D
%36 y&aﬁﬁ'ﬁmwwwwmmmmmwm%?
(a) HFEHR (b) wiafee

(c) iEhias Sgardl (d) =™
oRpte SR

(1) T (a) S (b) (2)

(3) K (a), (b) ST (d) 4)

Which of the following concepts can be considered as responsible for success of Indian Democratic
experiment ? '

(@) Authority (b) Representation

(c) Cultural Plurality (d) Justice

Answer options :

(1) Only (a) and (b) (2) Only () and (d) *
(3) Only (), (b) and (d) 4y Allof the above

37. G TIHeAT SO USie S U U BTl YR TR e 3T1E ?
9)/ CIGEE (2) M (3)
Which word has been used to describe the land ons where democracy is failed ?

(1) Desert (2) Oasis (3 (4) Anarchy

38, WA SARAIG TETE H&A YASH i e ?
(1)  TSTEET TERTor T,
() s fHe .
(3) TIERAER ekl UL,
(4)  TETERS e STENfE .

What is the main intention of this presented paragfapig} ?

(1) To glorify the Constitution.
(2) To Condemn the Constitution.

(3) To criticise the Constitution
{4y " To highlight the importance of Constitution

Geed] BIHRITS! STl / SPAC&E FOR ROUGH WORK RP.T.0.



X18 26
39, WW‘W@W'WWWWW/WWW@
(a) ST HHE (b) ~HHIT AR
() AT T (d) weEES GuH HEE
ot s
(1) W (a) ST (b) (2) T (b) M (d) (3) WwH () () WK (o)
The term ‘Rule of Law’ used in this paragraph means which of the following element/elements ?
(a) Equality of opportunity (b) Equal Treatment
(c) ) Establishment of Courts (d) Equal laws for all
Answer options : |
(1) Only (a) and (b). (2) Only (b) and (d) (3) Only(d) ) Only(c)
40, RICTIeh! RV T TR ST SRS FHIEY hell ST Ikl ?

(a) @i (b) ST

(c) ATHERRED (d) TN TSI

et SR

(1) W (a) (2) W (b) A () (3) T (a) AW (o) (4) FATH T

Which of the following can be considered as challenges to democracy ?
(a) Communalism (b) Feudalism
(c) Authoritarianism (d) Supression by Military

Answer options :

(1) Only (a) (2) Only (b) and () (3) Only (a) and (c) (4) All of the above
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e HTE FE T T T et giared
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e, e e et fodia 2
3T T 2" S WifecmYR el Wt

1?7 ofifieTaeh ST STHEHTE TS el IR, SR TewerTer T et Bl I Aodl A B “hie! geereh ST

e o e T TS, e ST e, ¢ Erest el ST i fen <9, et T gen

STEY ST FITY ST SCITAR STl € WA STve el 78 FHiid faen A, fewehtn =,
I ST T STeT hISE I GLalSTl Siegl 9 el eereN A TR TS, SNIEH e e S| ATSTeral Teshl
 afon s Eiaen e fafeien A oo TR A I A aifor sfferaran S o7 ST, T Hell Ha
FeTe) TR e A | Wi e faEets o setemaed] @ SYHEr e el
fwrenon ifTaRIe STore Uk Tireed! a1 Heid ®R . e faeiny e sifiare e
T el S, T TRt TR, THRTATS §Y i e HIee . RICHR AT E A IREIR S RICIENEIT
| IOkt TR, W TaeRTolt o Teur, ol e el s | el SRR IO ShEeedl STl
e S e SR T Teie SRl e THRTET 3 GTd el T S S W S{me st
o S U, T T et e o ey a1 . AT TMEaF 9 el g
FUTE e A" ST ARG TS, STHG, et 9d A<l offoor g9 Lo &R giawEd T
oS e TIETd T A R, ST Tevrar; e 39 SIS eredist Ted e !

41. e o sreraie forda Rl st - ~

&

1) (1) 3 () TR )
(3) () SR 4) (&) 9 (F) TR
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42. OISR ST ST FRfes eva Jam. Rl - R
(1) < AT TSI Hey oTe. »
(&) @ e T, 3

() TR HHISTS{EATIIE oTes Tadl I el r

(8) M o Sheleen sere sTfoashrel Hey ST, 0
el s :

1) (30 F () TR ©2) (D), (@), (¥) N v

@) (@), (), (3) T (4 (&), (@, (F) TR k

i

43. oTens feueiere fomuer WERma o YRRl STeewd. HRT - ,
(37) gfaurdT=an 79 y

(1) ST el Hadide S S )

(%) Teie RRFHHE ST 3T AT a

(€) Hrefle SIS SXEmsT s Feamatar Sy wid IC]

ot SE U

1) (3 3 (F) R o @ (@4 (T) T ‘g]

@) () a(®) aﬁzﬂbL @ (F) T () TR v

44, HIOTE WEEHYT T QI STeHTal GRHHE ST Ae) ? ;
(31) AFERRR (&) st (%) oAehe fewmpin  (T) T IO TEH T
e s !
1) (%) 9 () R @) (&) 9 (F) e ?

(3) () 9 (F) TR @y (a1) TR _

45, Teehier=a Tesraera Eaararel §v Jafq Slgesdrd. HRul -
(31) I AT LI 99 T,
(&) ifogres .
() e T shici= Yeileh FULA.
(T) Weemed SN W THe Sel WY e Aevm s,

Tt A
1) () @ (F) sl 2 (3D, (@), (3) TR
@) (D), (), (F) K 4) ()3 (T) TR
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Read the given passage and answer the questions No. 46 to 50 :

is prone, no superhuman genius is required.

A few simple rules will keep you, not from all error, but from silly error.

If the matter is one that can be settled by observ make the observation yourself. Aristotle
- could have avoided the mistake of thinking that women have fewer teeth than men, by the simple device
of asking Mrs. Aristotle to keep her mouth open while he.counted. He did not do so because he thought
e knew. Thinking that you know when in fact you do a fatal mistake, to which we are all prone.
1 believe myself that hedgehogs eat black beetles, beca ave been told that they do; but if I were
writing a book on the habits of hedgehogs, I should not commit myself until I had seen one enjoying this
unappetizing diet. Aristotle, however, was less cautious. Ancient and medieval authors knew all about
_unicorns and salamanders; not one of them thought it necessary to avoid dogmatic statements about
them because he had never seen one of them.

Many matters, however, are less easily brought to the test of experience. If, like most of mankind,
~you have passionate convictions on many such matters, there are ways in which you can make yourself
‘aware of your own bias. If an opinion contrary to your own makes you angry, that is a sign that you are
‘subconsciously aware of having no good reason for thinking as you do. If someone maintains that two
“and two are five, or that Iceland is on the equator, you feel pity rather than anger, unless you know so
little of arithmetic or geography that his opinion shakes your own contrary conviction. The most savage

controversies are those about matters as to which there is 1ig good evidence either way. Persecution is
used in theology, not in arithmetic, because in arithmeticthere is knowledge, but in theology there is
_only opinion. So whenever you find yourself getting ory. about a difference of opinion, be on your
guard; you will probably find, on examination, that elief is going beyond what the evidence
- warrants.

A good way of riding yourself of certain kinds of dogmatism is to become aware of opinions held
in social circles different from your own. When I was young, I lived much outside my own country in
France, Germany, Italy, and the United States. I found this very profitable in diminishing the intensity
of insular prejudice. If you cannot travel, seek out people with whom you disagree, and read a newspaper
belonging to a party that is not yours. If the people and the newspaper seem mad, perverse, and wicked,
remind yourself that you seem so to them. In this opinion both parties may be right, but they cannot
both be wrong. This reflection should generate a certain caution.

46. Which of the statements are true in the context of the given passage ?
(a) Hedgehogs do not eat black beetles. se.
(b) Women have fewer teeth than men. -

(¢) Dogmatism is a good thing.

(d) The writer lived outside his own country.«”,
(¢) One should keep oneself away from prejudices.

Answer options :

(1) (a), (b) and (d) (2) and (e) 3) (a) and (d 4) ,(d d (e
) () anc (2) (@ and ( G @and@ @) (O HandE)
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47. The writer mentions arithmetic and geography because

(@) we should know both subjects to avoid foolish opinions.

(b) these subjects contain many foolish opinions and unnecessary argument.

Ly ~ the two opinions he mentioned earlier have to do with these subjects.

(d) he is expert in these two subjects.

Answer options :

1) (and @ () ©@ony () @and(p) (¥ (dand (9
48. Choose the correct option/s :

We can avoid foolish opinions by ___

(a) way of observation.

(b) avoiding fatal mistakes.

(c) checking whether an opposite opinion makes us angry.

(d) by acquainting ourselves of opinions held in different social circles.

Answer options : . ;

1) @and () € @and(d () @ @Qand(@ @ () () and(d
49. Match the following :

A B

(a) inherently () unreasonable dislike or preference

(b) dogmatism (i) cruelty

(c) persecution (iii) narrow minded

(d) prejudice (iv) by its very nature

(e) insular (v) authoritarianism

Answer options :

@ () (g (@ (e

O @ & @ 6 @

@ O @ ) @ @

@) () &) ) @ 0

@) @ @ 0 @
50. According to the writer

(a) Intellectuals do not commit mistakes.

(b) Mankind is inclined to commit mistakes.

(c) Mankind is prone to avoid foolish opinions.
(d) Theology contains only opinion.

(e) Knowledge is different from opinion.
Answer options :

a>mwmwa>@@mwa)%@M@m>M@M®
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wwmwﬁaeﬁwvmmwm@ﬁf%%mﬁ%w@mﬂ@m fafyre e
TS GETIHT Sherell o1, 1 o feawrare 50“6‘1'37 ZWTWHHTHTB"T?)IOW 3?@’”?6{6!@@8?370 Y
o T, WWé%OF@E@WWﬁTWﬁWﬂW«WWWW@

1) 10 @) 11 @) 12 4) 13

A contract related to cleaning debris the construction work, specifies penalty in completion
of work beyond certain days as follows*- 250 for 15t day; ¥ 310 for 224 day; ¥ 370 for the 3*¢ day
and so on. If the contractor pays the fine amount ¥ 6960 then select the number days he delayed
the work.

(1) 10 (2) 11 3 12 (4) 13
52, YT W A O WK (a) A (b) E Wit qed feelt sed. et qof swvvarge i sfed waf frere
31, ], W onfur o] wes wefa e, wel Tt weRT YA TR S Sridien geemd hefl. e el
e wrEa SRt s et “
(a) T AN g, SRpe ST foere et e e <ive St ot
(b) Segt fSieruram e Woeel weat 3T, % o T A wrereedn SiavEl el § o | W 9
CIE | I RRE | IS N ECC
Tl Fe
(1) qeaiient Ueh ST el qui hIal Age TR e T T STaE <t o Sl YU AL
) A qed wH AU Pl YOl R AL T A1 HIURTE! el T2 SE il STl TR e,
(3) et e VRl Teh A2 STUE el WL il Agel.
(4) B 9 U o S el ol sl AUIR AR
Given below is an action and related facts (a) and (b) are following it. Select the appropriate
option with respect to completion of this action.
Anu, Chunu, Kanu and Ninu ran a race. All children start from the same line simultaneously.
Using following facts select the perss 0 won-the Tace.
(a) Twice the speed of Chunu, thrice.-the speed of Anu and four times speed of Ninu are equal.
(b) When winner finished the race the average of the distances ran by Anu, Kanu and Ninu
equalled the average distance Anu and Kanu.
Answer options :
(1)  The activity can be completed ~one of the fact alone but cannot be completed by using
other fact alone. »
(2) The activity can be done by using both the facts together but cannot be done by using either
— of the facts alone. o
(3) - The activity can be accomplished by using either of the facts alone. - :\h ey
. . ~ o 3.
(4) The activity cannot be completed by using both the facts together.
. . Q/g“ go ‘ ‘g
e HHTATS! ST / SPACE FOR ROUGH WORK xS S < PTO.
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53. o fafed TET e BRI e ?
e AR, T St fre gastiat gy e
(1)~ foren T arewEol e, |
(2) T T O HS SR
(3) T gt SegHRe .
(4)  wEdoIEs WefeE e i
What is the main idea in the sentence ?
“ After hours of practice, she finally mastered the piano piece”
(1) She enjoys playing the piano
(2) Practising the piano is difficult
(3) The piano piece was challenging
(4) Dedication leads to mastery

54. WY ®YU:
4 a7+ 2y - 1
7 8 5
(1) 55 2 35 @) 747 4 63
Simplify :
4 3 e 1 =
= J147 + §ﬁ§2 - 'g\[75

1) 55 @ 35 Gy 77 4) 63

55. WW’WWWW%@W@WWWWW?

(1) e S sur () feg-m-fag
(3) RO Sty i (4) ger o ferswa

Which organizational pattern is often used in persuasive essays to present arguments and counter

arguments ?

(1)  Problem and solution /O)/ Point-by-point
(3) Cause and effect (4) Compare and contrast

e HITETS! T / SPACE FOR ROUGH WORK
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aftpena Sodt, srsidt amfor el At e GAR 5000-6000 i & Feh, T IS, Wal o 5w &
U 99 STl U I HRarE A, i wew . N weeeiet I W il wiwaties
SreTeTHTIEE T et qie St i st qure Wed SRoardel fohtud gl oRd.  diges, g
AR C3 T faewie gara ‘C4’ WU Sieseedn S STeadien Teriiet fyeh s ot wrd:= 500 T2

SRl el oTRa.  C4 Thesidel AUifRa anfor syeruRE e UN A YRS uIge e
SN, TSRTYI- YT res e Ufsha o ShTRTE!. TTHTeR TN, i SR @ fohal qrerdTe TS TEd. Skl
iR fheerel wrTeuTie eiterar o1 Jerecaiass e, Se AT qoars! &l o Teehe ST
TR YT AN ST, I VIl SV s STk T s C3 fuenien gera
e SCATSH AN, HIHETE A0 YA HEA WS W ST difteen ToTH o SR

R g il Hifediae Fweeren faveada frend 3t o e faum fraen

(1) g ST qiges A< S HHt L T AR HR ot e ek UM Iearfed el ST,

(2) Soda T e UrTEl SR e i ARG S @i we fasmfaa wea T doda wes
Tirepi= sarIfaen STUTEH STEE0! R STUR T,

() TRere e fuemi=t Sftres e S, @i STE 916 Fedes BIR Y e ITHd, A
T[AEE HET AR T IS HE Jehdrer STfv1 S TITOTEes SRR |RT anidl.

(4) TR TR TSI e Yerd ae A, Wil A § e W, Wed s

Domestication of sorghum, pearl an er millets started in Africa some 5000-6000 years ago
while kodo, little and barnyard mille ginated here and are called the heritage crops of India.
When compared to C3 crops like wheat'and rice, over these millennia millet physiology evolved to
become climate resilient, covering biotic and abiotic stress. Millets belong to the group of plants
termed ‘C4’ crops that are evolved on their own 500 times. Their meag_phyll cells and bundle
sheath cells make them photosynthetically efficient. They don’t hav@ﬁény'photo-respiratory loss.
Millets don’t require much fertiliser or rainfall. One or two irrigations are enough for them. Evolution
also added to their pollen fertility and reproductive structure, the ability to withstand high
temperatures and they have a mechanism called rapid drought escape. As soon as they sense the
possibility of drought, they quicken their life cycle giving better yield compared to C3 crops.
Travelling successfully through time,‘millets have innate nutritional qualities.

Select one of the following statements’

the above information.

(1) It is not possible to decrease
crops.

(2)  Unless people are ready to ad llets to their food and develop taste for them increasing
millet production commercially will not be profitable.

(3)/ Considering the given characteristics of millet crops, increasing their production will cause
less pollution, farmers can grow them with less investment and their nutritional value will
take care of food security.

(4)  Gluten in wheat is useful for making tasty food which is enjoyed by large population, they
are accustomed to it and one’s eating habits are difficult to change therefore increasing millet
production will not be profitable.

at can serve as the most reliable conclusion drawn from

oduction of wheat and rice as they are produced as cash

Pl HIFTATS! ST / SPAéE FOR ROUGH WORK P.T.0.
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| 57. f& 20w 1995 ISt Tryem A, 3 ASEeR 1994 =01 e shiown & ?
(1) eEr (2) HITER (3) TEEAR (4) YFHI
Monday falls on 20th March, 1995. What was the day of 3td November, 1994 ?
/
(1) Sunday (2) Tuesday (3) Thursday (4) Friday
58, et wedsiumdiel wea feremtast Savarend! 3faq gfaar frerer
. @ ° ? 7
Ny TN\ e + v
v °
M) q @ |+ |¥
+ A
3) : (4) Q +
Select the appropriate image for replacing the question mark in given relationship.
Y4
4¢
5 e D ° 3;;;
© ° ? V ‘;}3
o N 4 %
7 &
pel
2.
2
v : :
M r @ |+ | ;
: 2
OERTRINS SECERE A
—_— D 2T B e gy g D O
+ ° = + 5 MoV lﬁ)ﬂ/%
(3) L (4) 0 et desy
‘Freed] TWR?T@I ST ,;\SPACE FOR ROUGH WORK @
RY, ()
o daH - @ t2 V2 L6 S (e 7 ¥ s 2®

g asf
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o TR TR THEI, 10 ZHF T 2 7 ThaTe 1T X 945 B R Ra Toend foaeft ordrer 2

(1) % 4800 (2) T 4700 3) ¥ 4500 (4) T 4900

What is the principal amount, if the amount
5% 9457

compound interest on it at 10% p.c.p.a. for 2 years

1) T 4800 (2) R 4700 3) ¥ 4500 (4) T 4900

¢ e T 81 T TS AT WS 3R’ ik el We Sond 4 aed frere ;
A9 ;

(a) I AT &1 S TETeAT SSial WS IR,

(b) &mEgwld e e waEtq T TR

N AU S o G ——————

(d) &erHEvld e e i T o7,
T I

1) (@) (b) @ 0.0 @ o @ © @

Identify two facts that prove conclusion : ‘the area of village Aate @g—g @ that of village
Sate’, to be always true. T A ———

Facts :

(@) The area of village Pate is larger than that of village Wate. %~

(b)  Sate is not the village smallest with regpect to area.

(c)  Pate would have been largest with respect to area had it not been for Nate.

(d) Area wise, village Aate, is the third largest. .~
[} (S F

y W Answer options :
@ @ o) @ ®).© ® O @ /K@@
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61. “The end of the story” @1 Taemed “of” A Fifr A ?

(1) 2) W@

(3) des 4) Heiy fohan e

In the phrase “The end of the story”. What does “of” indicate ?
(1) Possession (2) Location

16)/ Time (4) Relationship or connection

62. SR GrEEE Tl 5% A, SR WA ArEE 9261 A W 3 o=t Fﬁw e
B,

(1) 5700 2) 6000 3) 7500 (4) 8000

The population of a town increases by 5% every year. If the present population is 9261 then the
population 3 years ago was .

(1) 5700 2) 6000 3) 7500 (4) 8000

63, TR TR SR W HEE B @ Y e R o T ol 9 e . TRET
Sz, s, Toreh, orin, e, 2R anftr e ¥ e Suers SR, o ST W A Ao e
el & It STEHHIA T L.

T SUCTE] Wﬁmwmﬁa@wmmﬁwmmﬁmﬁa@ '

1) 4 2) 5 (3 o @ 7

Whenever Meena and Madhu buy ice creams from the local stall, they both always choose one
scoop of each of two different flavours. The flavours available on stall are chocolate, coffee, lichi,
mango, almond, strawberry, and vanilla. Meena does not eat almond and Madhu does not eat
chocolate or coffee ice cream. '

Select number of more combinations that Meena can choose than those of Madhu.

1 4 @ 5 o s @ 7

el TS STl | SPACE FOR ROUGHWORK ~ Cho a6, tiumi, mango, algfond s e, wroints
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SR FEHeHE AT OOl Soti= STt wem, WA Sehr U0l A qeeEe sreercl
el T iR g el 318 2021 = T fremdieTen STv STy S . Aes A1 SeKii=l
Fifen S careiaal STl 3o UTdesi=a FHTEHTE ST S, IO S ST BRR 969e
ST a1 SfeA e N SO HIIV R, HER ST T ST W] e T Sl S
TS TEOTRAT SR STTee Hlierell STHATE, 3ok Tt FaRiarer=al TehIesh erIHes FHereehi™ T2 TR
BT WIS & SaTertoes T2 qaR g, fRsed =R fohar g woom A st e e A
Y. A SfE TATSTSeRT T el W, GEEo ST SRR TR S
TN A G STCHEH TICTvaTe Hae I,
Tdrer ufesaren wata sfem Teaad LR RIRIGEAECE
(1) NS THFMYEYeS SR Sl T A o TROTH Seriha0l ST S5 el TS
STV AT TR 9 A e THTHAU0 GHISTHISHIA $a<el S0 forowd & o i
G Tl & Tl 3:"7‘[3 .
(2) g SR THPIAY0 YIS RN WTemie foe U, SHISTHISAI gaxien SeHd=r S
(3) wesiqe SeRA T WA foenfaa shvarsa Well e gedr ol T Saee Saresa
AT,
(4)  TRER ST W S R SRS TR ST SaRieAl STeHEAMTe GreHIh ol 2.
A Harvard University study of 2021 found that positive empathy propelled kind acts towards
others, including being helpful and cooperative. It fostered resilience and a high degree of satisfaction
in their daily lives. While the benefits of empathy derived joy are enormous, it is hard to practice.
Jealousy and greed are enemies of iness and we are surrounded by people who enjoy the
suffering of others. On many occasions, negative feelings about the other may lead to social and
professional bonding amongst peer group, such as amongst cricket fans or soldiers waging war.
This poisons our social life. Lack of mpathy drive individuals to lower the self-esteem of others
through social media.
Select the most appropriate central idea of above paragraph from given options.
(1)  Persons perform kind acts due to positive empathy and consequently experience high levels

of happiness while living flexibly on the contrary jealousy and greed drive individuals to
enjoy life by poisoning lives and eroding self-esteem of others through social media.

2 Most of the people become ha by watching persons suffering the pain by spreading negative
e peop Ppy by gp gthep Yy sp gneg

emotions in the society and the material through social media that erodes self-esteem of
others.
(3) Individuals will be kind toward thers only if schools prov1de them with opportunities to
develop their own empathy.
(4)  As a result of negative behaviour of persons engulfed in jealousy and greed towards others,
self-esteem of others is lowered

65.

IV HHHT I63 TS SHed-T= Flid«'?ﬂ, ferdl el ?
(1) sWema Tl (2) wRom - (3) W AfafEd (4) =

Which transition word suggests a continuation of the previous idea ?

(1) Nevertheless (2) Consequently (3) Additionally (4) In conclusion

BTEN] BRI SR / SPA?E FOR ROUGH WORK B.T.0.



66. W'+'W'—','-'W'X'/+'W'+'m'x'm’—:—','ﬂ'{
2BxXE5+7—4+9= 7

25

1) 39 @ 24 (3) -35 @ 3

If “ +’ means ' —’,‘—’ means ‘X', ’+’ means ‘+’ and ‘ X’ means ‘' +’, then
2B5xX5+7—4+9= ?

— 25 <t st35y
(1) 39 (2 24 (3) —35 (4) 39 z
2815+ T L 4 -9 = 5+35-9
67. Tadren arpwERrEn 4 e fras. |
‘2 e o1 S RY o \ 2
1 fea 2) W 3) e w @) W
Choose the correct meaning of the given idiom.
o “To pick a bone with one”
‘ (1) To learn (2) To blame (3) To criticise (4) Todie
68. A, BdC N famiean awetel 5000, 2 : 3 : 5 A1 FHIUN sreet T C =1 et fehdt €99 4 ?
(1) T100  (2) 2000 (3), 2500 (4) T 3000
% 5000 has been distributed to A, B and C in the ratio 2: 3 : 5. How many ¥ comes to C?
(1) ¥ 1500 (2) ¥ 2000 (3) T 2500 (4) T 3000

69. T TN WA ST ure gefaret fferi <o e, ITeiTeT e A1 STER e WY Sl
aradiel R et fere.
i ;oM STUTY el
faferer @ 3o WY SR

ELgl : O e S,

E1E§ : <t it TR '/,

= . TR QR FEE STl Wi Ser,

T S '

(1) Fm (2) faferm (8) el BRI

Five suspects, one of whom is the guilty party, are being interroga%ed by the police.
Select the culprit if just three of the following always speak truth.

Al : Dev Committed the offence..
Cynthia : Fla is innocent.
Ela 3 : Banu is telling the truth.
Banu : It wasn't me.
ev : Ali is lying when he accuses me.
" Answer options :
(" Bla (2) Cynthia (3) Al (4) Banu

e PIIRITE ST # SPACE FOR ROUGH WORK
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3,4,7,8,9 91 SH TERAN HIUE GEHE] SFHTE YAUGRN 7 il fhdt 2 3t T aaar At ?
(1) 30 2) 31 G 25 (4) 20

How many 2 digit numbers can be formed with the digits 3, 4, 7, 8, 9 if none of the digits is being
repeated in any of the numbers so formed ? '

1) 30 ) 31 (3) 25 4) 20

71.

W EIREL]
sfferw e aden 65
Teat aden 40

TSI guidiel 9 Yesidrer foreneff wefem sifaw wrerg enfor farmdis yeet wdei= fere Seden arofa
feor aRa. © Teme v eidier 3= Aoft wiw o famneaten cwhaien wEuW e e SR
JAE HRIEerareaT S TR AT S=US deoiaRen a-H o1

o1 Tifedier SF gaaAiHl i arsd et

()  ifce wera wheren STm Fereene! TR HE ST JMEY Helfaenerd SiSAA Swre goid =i
.

(b) formite wdrerdl ferneafn waR AvaTd SigHA So, T HeeRICrTSAl gad e ST,
e arviide face faveeria ,aﬂmﬁfﬁ /=) Feret.

(1) 2 (a) T (b) () T T (b) &
(3) K (a) ) e (b)

Schools Dnyandeep

SEE ‘ 65

Degree 40 12

The examination results of groups of pupils from the same year from two schools in their end-of-
school exams and their university degree are given in accompanying table. Results are expressed
as percentages of each group achieving the top grades. Dnyandeep College has significantly smaller
class sizes than Anjuman Higher.

Two newspapers made different comments on this report :

(a) Dnyadeep College is better than Anjuman Higher at teaching to achieve good results in the
end-of-schools exams.

(b)  Anjuman Higher prepares fls better than Dnyandeep College for university education.
Select the comment/s that serve/s=
(1) Both (a) and (b)

(3)  Only (a)

2)  Neither (a) nor (b)
4)  Only (b)

PERT HTHIHTS! ST / SPACE FOR ROUGH WORK P.T.0.

R



X18 40 - D

72,

TeRT T 50 A 91 GO ST TReHeRTSIes Ted ST ‘B’ 1 YoM Teiaeied] FeehTsiass hiH shid.
TeTel T Td T 100 1. iSRRI SHIAIGR ST SFTaTesat TR <eraen siered wig &t
wata R statEn Wl feed.

1) 2 2 3 3 4 4) 5

Era lives in a certain village near the junction marked ‘A" and works at the junction marked ‘B’
All road sections in this village are 100 m long. Era likes to vary her walk to work, but always
walks the shortest possible distance.

Select the number of different routes that she can take.

1 2 2 3 (3 4 4) 5

73. 5 Wi o7t 3 wfeviient 1 afeor anfor 2 e owet T wewr= aftrd e sl o, | feRet Seesa

YR AT IS IR ?

1) 30 @) 25 3) 20 4) 15

Out of 5 Brothers and 3 sisters, a committee of 3 members consisting of 1 sister and 2 brothers is to
be formed. In how many different ways can it be done ? ‘

1) 30 @ 25 6] 20 @) 15

el BHTATS! IR / SPACE FOR ROUGH WORK
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1)

Choose the similar word :

Ghandrapur; Dhule; Gondia; Jalgaor;

(1)

TR () SgER @) iR (4) e

Nagpur (2) Nandurb (3) Nashik (4) Bhusaval

75. ‘‘epredfie wmeT araean Ger sl T TS gund. ! erelieden! wivh e wel st

T ST SIEN WA e ?

1) wmmwmmﬁémwmwwmmﬁmﬂr
TFEUHE S [0 fiesard.

() et Al erser Sifed - snfor aRfeertt STHAm @ A S gieshirEn foEr
HUT AT

(3) S @i HIcafTeh el S miw%é“ﬁ SIS G S YeqEE STel.

(4) TSIl T TG ShITTfTeh SHTFHEA T ST 2T SRforsh: S{TorTiet STl Heiftr e,

“Reading fiction improves empathy and social understanding.” Which of the following statements,
if true, would most strongly support the claim above.

1)

Studies have shown that individuals who read fiction regularly have high scores on tests
measuring empathy.

V(Z)/ Fictional Literature often contains complex characters and situations that require readers to

3)
4)

consider multiple perspectives.

People who read fiction tend to have larger vocabularies compared to those who do ot

Fictional stories are often set in iﬁiagmaﬁve worlds that are unrelated to real-life experiences.

BT BIARIS! SIFT / SPACE FOR ROUGH WORK P.T.0.



X18 42 , D

Decision making and problem solving questions No. 76 to 80 :

76. v SRS TR, A W g eifeer g wor i el e i fete e Al g
HYA ?

(1) =eTeR! e 9 T T Wi 1 o Srgehre .
(2) U9 ST YewHT Rl I A

(3) e e T 3 T fere 3

(4) STESHIET YUATHIE SHes SeeH TEEe T g,

You are in a bus. The bus reaches your stop but still you have not purchased the ticket because of
heavy rush. What will you do ? B '

(1)  Give the money to the driver and tell him to give it to the conductorg)_

(2)  Jump out quickly to avoid embarrassment. oh
(3) Call the conductor give him the money and get the ticket.(/

(4) Hand the money to someone sitting nearby to give it to the conductor. o+

77. 2030 SIS WEA HIOAEE VIvaa faeT Treverdre! Raor g Hecr Hew o, weea feqor wHIEtS
Fore i U TRl eIk T WA o AR gal. A1 ST Uk e fSteet el
frerar e Hied 0T el STSATHHR TN Haren foari id 3.

oo foreror sifbreilt o gl
(1) o STt ST ST e e wHevardret R, wers anfon fereneafel weemmE@d
FHA

() el fesmremmen qenet wifen freor sl ofor weres faeRf .
(3) e ervarasy faada Fevarardt farmi g frerearen Rt g T
(4)  STATEHAE T Fwvaret feft fmior shae,

Education is a key factor for achieving sustainable development in order to achieve 2030 Agenda.
A signification initiative towards integrating sustainable education should come from local level.
In accordance a school district is considering implementing a new curriculum focussed on
environmental sustainability.

As a District Educational Authority you will :
(1) Consult with educators, parents and students to gather feedback for new curriculum.

(2) Develop teaching materials and resources aligned with the principles of environmental
sustainability.

( Train teachers on effective instructional strategies for delivering the New Curriculum.

(4) Generate funds for designing the curriculum.

e BITATS! ST / SPACE FOR ROUGH WORK
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SEEArE Geuidiel eI ST i STl o qrelell Tauearea Je=i UM STe TrTel.
SUAR S Aehe THesavarard! fasidt o oTeamn goen Uk T qreren erahl qeed groarel guest
qrodrE YRES] eI AT ST |IHR ST a1 Seq e smofeg! wed foeft. sao foa™ arwaran v
YA ST o T ;=1 STSINIAT Hed hIUT=H Hifct el e qrafell $eer areel. gl ..

(1) =0 Faen @ v qogrer gEeT

2

) WWWHWW : mﬁwﬁaﬁmﬁ%ﬁ—mwm I &

SETE ST FHH TR Haeresr=

(3) Rt wel SuffE o Him Sl qoEREred e oS! Son w@iE o wrEm
TGO SUshHIT T1f-eh Tlehi=l TEHFTT heet Svardrel IfereR o et W 3wt
T TR S

(4) fovamdig qUArET QR HOT SO SEEEIe Wi S S § oA il STHeees
WWWW‘%&W%%EWWWW.

While studying footprints in the context of wa
stone pain. A friend of yours came to wish yo

esources, unfortunately you suffered kidney
eedy recovery while you were resting for

regaining your strength. He not only 'mformed yo about your kidney problem in detail but also

water supply. You are surprised that after studyis g water for so long you do not know the root
cause of your own illness. You will ..

(1) think about migrating to any other place where you are sure to get potable water sup;;ly to
your family.

,/(Z(Continue your study for conserving potable natural and manmade water bodies and work

AN\

for saving people at large from kidney stone suffering.

(3) build up teams of global and local researchers and activists for conducting research related
to quality and conservation of all natural and manmade water bodies in the area, and seek
participation of local people in conservati

that people care least for conserving water
o lead them for any constructive work.

(4) remain neutral as you are aware of the
bodies that supply potable water, it is diffi

ees] BTHATATS! S / SPACE FOR ROUGH WORK P.T.O.
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79, ekl Yeifirer GedS Harersh SRR, TR S WATRaIET HEHh! QIRToTa1 TS AreisiTeh Hfaendned
SHTEla TefYO) e TS 318 A, Fgah Sierdid JETa e HLvard STl SMfor cardierd e siiemi=t
Tl 30T o2 ks S SIS TR T8V QIS Shel e, HIe ok chu Tl Jenifud e JETel SaI9el
HEA STfes gftesnTen JAMTe YeieH oTeer foel. ame g6 duell - a8 i=mihd 2o
AYEITEl SASAR! ieen e e sifgr W Seusietar JuRadel SERRn Afdew anft
ereiiier gfienr WM Tiehruaa STl Bl vur ZgTen fokia & wiaar T At fokiy el wel Sha e

(1) mese vienera Hafeq holedn SFTde fafary Hemibsia™ =l s dsifrg veridiar guan e
FHLOGTE] G FHOGTE] TS T spuope wifscr aras svama faeneata g et

(2) wEHERE, TS, SEdren M garen FAeR fHeaaemeds Symen w4 g
SR TS STV TU-8Ull See0] IR 18! © 6T SIS Shidd= fqeR e

(3)  STEITER A URRAN STEe UfTRIis Sees YA wenaN sfaem srerasHidrer ferfe
oSt faeneatan wem U STEaTIeRiA Tiedre T

(4) ‘g TEUS U] S Tl T FEOiEOTR IO O ST ST, Yo o 1Y aie SrgHe
o At g o o ofd.  wRjes widm geenfaa B el uerd fermeta
FThTH HEA ST Hed QUATAIS! UIETsh & STEaTes Jiea HewrH fafay Sushd wrer e,

Being a director of educational institute you think that something is deeply wrong with today’s
public psyche that sees glory rather than horror in war. Through most of history war was indeed
glorified and the accompanying killing of innocent people and loot was ignored as collateral damage.
This world view was challenged by the European Enlightenment that promoted centrality of human
rights. This did not end wars or robbed them of patriotic sheen. Gandhian non-violence was
adopted as a moral and practical resistance to colonial tyranny during the freedom movement but
it is your regret that nothing special is being done to oppose war and establish peace. You will...

|

|

(1) encourage students to read literature which explains the need to try to bridge the gap between E
the parties concerned by discussing the various conflicts in the world that is stocked in school |
library. N i

|

|

|

|

(2) avoid thought of peace, keeping in mind that it is not possible to develop young men and
women who are ready to join the army for the defense of the country without impressing the
stories of gallantry, war and patriotism on the minds of the children.

(3) encourage teachers to empower students to analyze the various conflicts in history courses
in the classroom and to understand the long-term effects on their society by studying authentic
historical documents with the help of up-to-date techniques.

(4) assist learners to understand the truth that, "War is not valor, but the failure of a man who
calls himself wise. For a soldier who experiences stupidity and cruelty, war ends in destruction.
Peace is not established by it’ by organizing various activities continuously with the
participation of parents and teachers.

greed] HTHTATS] ST / SPACE FOR ROUGH WORK
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80. A= T ST T Srerga ST JreTen O FRA YU Yo a e, SR qReell wie Hied SR
T AT e STehrEe A SHvareAl Ted YR el SR Sared el o Ire i e ?

(1) it HrEn i W R AR Tern wen < fyuarg BeE el e,
(2) T fuvag TR T

(3) el A T HeErW A WUE WEUE S
(4) THR T T i @i Serer w1 grRTen 4

Your friends like drinking alcohol and influenc
them and to keep yourself away from the habi

T 3T e,

u to do the same. If you don’t want to go with
drinking alcohol, what would you do ?

(1) Iwill tell my friends that niy parents ha\:( farbidden me to drink alcohol.'/
(2)  Will Refuse to drink alcohol. ‘
(3)  Will drink alcohol only because your friends are drinking.

(4)  Will refuse and lie to them that you have liver disease.

] HIHTETS! ST / SPACE FOR ROUGH WORK P.T.O.
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8) TEgRerned fafa Foem fafre Srie =1 FW (W6 o) FE.  AYfkeiaiE STOfheR 91 3w
FRTETE Fo) THTH HeTd & FIT HIOAT1 S s 3113, 3TH HHS TES o TTHR SHETRER A ST Shese
*rregiedt BroTra AR Wise S vaTeTe STRTEH-82 ! AT TRISITHR SHIETs 0T A5e o SIo! oert
TS T TS SHIETHI= S0/ fohen S0 Weh g = <erea e s 28,

©) WEHTTIRRREE! SR fafed How Ses Huedra SHEAN@ & TR IR S ok T iereIaled S Svard
AT SR, AT T TSI STyl SHEam STear SR Y- 1 SragehTers 7 farawr ue
O NEYIR AT

T W

W. . 201, TS T T FHOHES RN FAd: TS Hel ?
(1) T TarE wTEt Q) IvavEs R
(3) TS THHEA U 4) TIEHES TEe

T IR T S (3) TN TEie U0 O TR, e A1 YN SR (3)" B, Ie Ereied !
T %, 201 GRS Ia-waE C(3)"! R oo Toiud Bifea s qrafan) STeRes S

%201 (D) @ @ /
I THA T FTYRRhde Teish T GHE S-S 81 gRerel waeicl Jereedn S tehele
N T - Gl e quiutl SR we SrREErEl.  gIeRar ekt Shiedr INge e
TqOE, Ui ar vEe U A L

eyl BITATS! ST / SPACE FOR ROUGH WORK




